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Directions-(Qns. 1-3) In the following questions,
two statements S1 & S2 are given followed by two
conclusions I & II. Taking the two statements S1

and 52 as true, decide which one of the answer (A),

(B),(C), (D) logically follows.

T

Statements :
S1 - Some players are brave.
S2 - All boys are brave. Conclusions :
Conclusions
I - Some players are boys.
IT - Some boys are players.
a) OnlyI follows.
b) Only II follows.
¢) Neither I nor II follows.
d) Both I and II follow.
Statements —
S1 - All girls are engineers.
S2 - All travellers are girls.
Conclusions :
I - All travellers are engineers.
I1 - All girls are travellers.
a) OnlyI follows.
b) Only II follows.
¢) Neither I nor II follows.
d) Both I and II follow.
Statements —
S1 - Renu can understand the problem quickly.

S2 - Mathematics students have good reasoning

ability.

Conclusions :
I : Renu has good reasoning ability.
II : Renu is Mathematics student.

a) Only I follows.

b) Only II follows.

¢) Neither I nor II follows.

d) Both I and II follow.
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a) 4

b) 6

c) 8

d) 378 @ &g 7@l

afg N = 7% - 35 qa N # 312 €I W 3§ & —
a) 3

b) 4

c) 6

d) 7

Questions : Is the two digit number odd ?
Statement 1 (S1) - Sum of the digits is even.

Statement 2 (S2)- The number, when multiplied
by 2, fetches an even number.

a) Si alone is sufficient to answer the question.
b) S2 alone is sufficient to answer the question

c) Both 81 & S2 combined can give the answer
of the question

d) Both Si & S2 combined are not sufficient to
answer the question

A monkey climbs a pole of height 30 metres.
In the first minute, he climbs 15 metres but in
the second minute slips down 12 metres. The
process continues till he reaches on the top of
the pole. Time required to reach on the top of
the pole is

a) 10 minutes
b) 11 minutes
¢) 12 minutes
d) None of these

Mahesh has some apples. He gave half of the
apples to Suresh but got 1 apple back from
Suresh. Then he gave half of the apples available
with him to Dinesh and got 1 apple back from
him. Third time he repeated the same process
with Harish. In the end, he was having the
same number of apples which he had in the
beginning. Number of apples he had in the
beginning is

a) 4

b) 6

c) 8

d) None of these

If N = 7% - 3%, then the digit at the unit place of
Nis

a) 3

b) 4

c) 6

d) 7




10.

11.

gl A T 1,350 H gl KU %4 @l | 36 UF 9] @l
6% B T AL SIS &l 7.5% ATH AT | ZH G A A
A, 7 I g8 | g1 awgal & w e, AR 8 —

a) T850,%775
b) ¥825,% 725
¢) T750,% 600
d) ¥775,3 650

999 3 4000 & A (G & GrAfewd & gY), T
ferer quiies € S i1 0, 1, 2, 39 4 T ST Sl T §
afe, siel ol g 2 e ?

a) 325

b) 376

c) 425

d) 526

farfefa $oft & s < gl @1 1 iy —
ADB,EHEIL], __ ,
a) LOM, NOQ

b) MPN, QTR

¢) LMN, OPQ

d) NPQ, MNP
ferferfera & smet ug o €2
6,11,15,18,20 _,

a) 22,23

b) 21,22

c) 21,21

d) 20, 21

10.

2 9

Sunil bought twoe items in 1,350. He sold one
item at 6% loss and another item at 7.5% profit.
This deal finally ends with no profit no loss.

Purchase price of the two items are respectively
a) ¥ 850,775
b) ¥ 825,% 725
¢) 750, T 600
d) ¥775,%650

How many integers between 999 and 4000
(including both) can be formed, using the digits
0, 1, 2, 3, 4 if repetition of digits is allowed ?

a) 325

b) 376

c) 425

d) 526

Find the next two terms of the following series-
ADB,EHEIL], __ ,

a) LOM, NOQ

b) MPN, QTR

¢) LMN, OPQ

d) NPQ, MNP

What are the next two terms in the following ?
6,11,15,18,20 _,

a) 22,23

b) 21, 22

c) 21,21

d) 20, 21
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1%,
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PQRSTUTAagIT,SEBRIaNP e ¢ |
R, STAETUQ, ST drerSere a T § orel oy
2 | 999 BTe1 g Had o HAN: § —

a) PaR

b) TaP

c) SaT

d) RFQ

9 U e 7 (?) & I W & 97 318 g ?
I P D
K|loQ| g
M R ?

Ay

b) I

¢c) K

d) TTH | F1E Tl

TREAF,F,F 3R F THRATE REARE I
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a) 134
b) B
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d) F,
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a) 17

b) 18

c) 19

d) 20

12.

13.

14.

15.

16.

There are 5 friends P, Q, R, Sand T. T is shorter
than S, but taller than PR is taller than S and Q
is a little shorter than S and little taller than T.
The shortest and the tallest are respectively

a) Pand R
b) Tand P
c) Sand T
d) Rand Q

Which letter will appear in place of (?) in the
following figure ?

| P D
K |qg | e
M R ?

a) H

b) I

c) K

d) None of these

Four friends F, F,, F, and F, are playing on a
carom board. F fac.es towards North and E
faces towards West F andF, are partners. Who
is facing towards South ?

a) I
b) E
c) B
d) F
In 1 kg. mixture of sand and iron, 20% is iron.

How much sand should be added so that the
proportion of iron becomes 10%?

a) 2kg
b) 1.5 kg
c) 1kg
d) 0.5 kg

Inarow, Pramodis 7" from the left and Prakash
is 9th from the right. Both of them interchange
their positions. Pramod becomes 11" from the
left. How many people are there in the row?

a) 17
b) 18
c) 19
d) 20




e - (v 17-18)

17.

18.

19.

AL
25 C
T 9
12 E D
13 23

g fgar T Ui 9 wiiwa # U@ URaR & el &d
o fador 8 | 91E &7 193 @ieh 39 WRAT &l 3T 4G

U@ & gt HIfGe 379 T 33,650 2 |
A - HEE

B - W@ g

C - #ARSHA

D - gof &l fEien g 9207 gryor

E - fafeearug s=rHg

F - wfa9 49

RER gRI HISH a91 AR § 947 €9 § Ul A
i B e d

a) 712, 443

b) %12, 315

c) T, 432

d) T 11, 441

WA ATg WR & o g —

a) 6,000

b) 6,152

c) 6,057

d) 6,048

&1 TS ST & ST G 9 1 -
Z, S, WO, TK, QG °?
a) N,C

b) N,D

c) @6

d) O,D

Directions : (Qns. 17-18)

17,

18.

19.

: |

25 C

F 9
12 E D
13 23

The Pie chart given below represents the
domestic expenditure of a family in percent.
Study the chart to answer these question if
total monthly income of the family is ¥ 33,650.

- Food

House rent

Entertainment

Education and maintenance of children
Medical and miscellaneous

Provident Fund

Hm ey 0w e

e total amount per month that the family
spends on food and entertainment combined
together is —

a) 212,443

b) %12, 315

c) T1,432

d) T 1, 441

The house rent per month is
a) ¥6,000

b) T6,152

¢c) T6,057

d) 6,048

Find the next two terms of the following series-
LeSiW, G L R OhG ot ¢

a) N,C

b) N,D

&) 0, C

d) O,D




20.

2.

22.

23.

24.

gfg HINDU @ fodl gfefas W § 61257 3R
MAN @l 932 fer@r siem €, a1 o€ giesfae sy
INDIAN @it fer@r smaom —

a) 125312
b) 125132
c) 251312
d) 121523

gfe fordt ad &1 ®1E Ueh ATg AR & 30 2l e df
39 e fedta wifar @ ote foq & fafa gnft

a) 16
b) 17
c) 18
d) 19

SIS Sl 7 o 991 W & | 9V o Gel 99g & 99
g

a_c_ b ab a ca c
a) abaccb
b) accbab
¢) aabbcc
d) baccbb

A, BE e g, W C S e «1g & 1 D, E € o
I B fora e 21 € | 37 0e H ged v @ g ?

a) C

b) B

c) E

d) A

e Y9 & gAE P -
NHP: OGQ:TLJ: ?
a) UKL

b) VKK

¢) UKK

d) KUK

20.

21,

a2

23.

24.

If HINDU is coded as 61257 and MAN is
coded as 932, then INDIAN will bewritten as -

a) 125312
b) 125132
c) 251312
d) 121523

Ifa month in a year starts with Monday, then
the date of the fourth day after the Second
Saturday in that month, will be

a) 16
b) 17
c) 18
d) 19

In the following series some letters are missing.
Select the correct set of letters.

a_c_b_ab_a_ca c
a) abaccb
b) accbab
c) aabbcc
d) baccbb

A is taller than B, but not as tall as C. D is taller
than E, but not as tall as B. Who among them is
the tallest ?

a)

b) B

¢) E

d) A

Choose the correct group —
NHPROGQ :: TLJ: ?

a) UKL

b) VKK

¢) UKK

d) KUK
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26.

Teh 5! GIET G I SR 981 ¢ | 98 Sl & gE A
fe=m & 60° 9 it € e g€ gg o fauda &
# 105° 99 I € | 219 9% g R # &2

a) IW -4
b) =4

c) ufgH

d) o

A 7 BE &g "Fid H 370! gl i sl & ghelld WS
g fHerm " A fFed fien an?

a) HoH
b) g
c) WIS
d) foar

g (w, 27-28) - FAmfeifeEa wea # wegf it 219gvl, qdhad
T e %A H WEd gY ITR G —

27.

28.

1. gRdrer
2. WY

g+
. Fafe

4. 9
5. fagmE

6. 3MagT

a) 5,6,2,3,4,1

L

b) 5,6,3,2,4,1
e} 5i6edid 3 1
d) 6,5,4,2, 3,1
1. 9gREr

2. 98N

3. HgH

4. g

5. o

a) 3,1,2,5,4
b) 3,1,2,4,5
c) 3 1:4:2, 5
d) 3,1,4,5,2

25. A girl is facing South. She turns 60° in the
clockwise direction and then turn 105° in the
anti-clockwise direction. In which direction
now she is facing ?

a) North-East
b) East
c) West
d) South-East

26. A to B, "Yesterday I met the only brother of the
daughter of my grand mother". Whom did A
meet ¢

a) Cousin
b) Brother
¢) Nephew
d) Father

Directions Ons. (27-28) : In each of the following
questions, arrange the words in a meaningful, logical
crder and then select the appropriate sequence from
the alternatives given below each of the groups of
words.

27. 1. Probation
Interview

Selection

g 1

Appointments

Advertisement

o wn p

. Application
a) 5,6,2,3,4,1
b) 56,3,2,4,1
¢) 56,4,2,3,1
i) 6;:5:4,:2;'3::1
28. 1. Family

2. Community
3. Member

4. Locality

5. Country

a) 3,1,2,54
b)3.1.2.4.5
€} 1Bailsilsi2e 5
d) 3,1,4,5,2




29.

"ADJECTIVE' ¥ ® Y% X &l 3fisi auiAmer &
3T AR ¥ T TAS &Iol &l 3G [Uoel &R §
wfcreen e foma st 8, 1 74 Wi egee § e &
ghne

a) IR

b) ©®

) g

d) =

7fg UNIVERSITY weg & 278 § ‘A’ @1 B’ ; 'B'
& 'C' fer@r S 991 28 veR g9ad 914, o HEfetEa
HETT H G i GT 78R gifg § e 3181 & 918 ST &
draw s g7

a) M
b) A
e} &
d) 578 8 =15 7

YYH Gl & o9 S G ¢, 98 G5 91 daTel o] S ad
TTO et U SRAaTE e fe7g & T &t ufy hiforg —

TALE : LATE 22 % CAPE
a) FACE
b) CAEF
c) FEAC
d) CEFA

A &l FAATT TG FEF B A 3T B AT A G 12
gy @1G Hl @l Y ] il 3T @& g T &l g | &
&l T 1Y R 8 2

a) 18ay

b) 169y

c) 14 a9

d) 1299

+frer 1 1S spEen U g o 2, % Ug & Ul R
M3V, O5U, R7T, T9S, W11R, ?

a) Y13Q

b) Z13Q

c) Y13P

d) Y15Q

29.

30.

32.

Each vowel of the word ‘ADJECTIVE' is
substituted with the next letter in the English
alphabetical series and
is substituted with the letter preceding it.

each consonant

How many vowels are present in the new
arrangement ?

a) Four

b) One

e) Two

d) Three

If from the letters of the word UNIVERSITY,
‘A’ is written ‘B’, ‘B’ is written ‘C’ and so on,
then which of the following letter is the third
to the left from third letter from right?

b) A

g) %

d) None of these

The relation which is in between first two,
establishing the same relation between the last
two fill up the space of question mark

TALE:LATE:: 2 7 CAFE
a) FACE
b) CAEF
c) FEAC
d) CEFA

Present age of mother is three times the present
age of daughter. After 12 years mother's age will
be twice of daughter's age. What is the present
age of daughter?

a) 18 years

b) 16 years

¢) 14 years

d) 12 years

One term is missing in the following series,
find the missing term -

M3V, O5U, R7T, T9S, W11R, ?
a) Y13Q
b) Z13Q
c) Y13P
d) Y15Q




feu- (U wAF 34-35)-FAlded ggae | smaia
U] & IR gy —

34.

35.

36.

37.

(i) P x Q'@ 214 'P, Q @ fuer &

(i) P-Q @ P QHaga e

(i) P+ Q@3 P, QeI I E

(i) P+ Q@ ad P, Qa# E R

B+Dx M+ N sfvaafa d§ M@ BE ga™
a) U

b) drar

c) W@

d) v

feT & § 1 wgfeie oean & foF R, M &t it €2
a) M=KxT+R

b) M-J+R-N

¢) R-MxT=-W

d) R+MxT+W

qfg ‘eraser’ @ 'scale’ 'scale’ @ 'sharpner,
'sharpner’ @ 'pin’, 'pin’ @l bag' @ 'bag’ @ ‘pencil’
&gl ST &, ol Ues eafad fened feergr >

a) scale

b) pencil

c) bag

d) pen

%o : g AC, DCE, %3 DC, ECE 41 EC, YY
a2l

S -

(i) & AC, EC#I

(i) T YY, DC I

(iii) = AC, EC 7@ &1

(iv) 4t DC, ACE1

1w fereen @ —

a) &ad (i)

b) & (ii)

¢) (i) 3 (iii)

d) (ii) 3R (iv)

Directions (Qns. 34-35)-Following questions are

based on the information given below -

34.

36.

(i) ‘PXQ’ means ‘P is father of Q’
(ii) ‘P-Q’ means ‘P is sister of Q’
(iii) ‘P+Q’ means ‘P is mother of Q’
(iv) ‘P+Q’ means ‘P is brother of Q’

In the expression B+ DxM+N, how is M related
toB?

a) Grand Daughter

b) Grand Son

¢) Son

d) Daughter

Which of the following represents ‘R is niece of
M'?

a) M=KxT+R

b) M—]J+R-N

¢) R-MxT-=W

dR+MxT+W

If ‘eraser’ is called ‘scale’, “scale’ is called
‘sharpner’, ‘sharpner’ is called ‘pin’, ‘pin’ is
called “bag’, and ‘bag’is called “pencil’, what
will a person erase with ?

a) scale

b) pencil

c) bag

d) pen

Statement : All AC are DC, some DC are EC, all
ECare YY.

Conclusion:

(i) Some AC are EC.

(ii) Some YY are DC.

(iii) No AC is EC.

(iv) Al DC are AC.

Then correct conclusion is -
a) only (1)

b) only (ii)

¢) (i) and (iii)

d) (ii) and (iv)




38.

40.

41.

42.

SR A B, 125 it AR E | AR P ww
A 9 U B & 3R ga8 07:30 841, 25 (@A), ufd 92
7T § oi AR Q, WX B & WeX A Fif 3R gug
07:00 g5, 30 forl. wfa e & vfa @ aea €41 91 fea
aqof fHeli ?

a) 09:30 a.m.

b) 09:45 a.m.

¢) 10:00 a.m.

d) 10:15a.m.

6 TEF qUT 2 AS(EAT fEl FH & 5 gl | R g
2, Siafe 13 ded a9 7 wefeal 38 &M & 2 & §
T GH &, 1 7 ek a9l 3 el 34T & &l J &
o |
a) 4fgA#H

]
b) 4= Rt A
c) 6fATH

N
d) fjfﬁﬁff

P P+ A
?ﬂﬁ—_']aa—-l) Qwr{m%
a) 1/3
b) 2/3
c) 4/3
d) 7/8

P aar Q e fedi M@l 12 Ga e gad €1 Q
TMR6TGAFIPINR4EAH, TP Q Rus @Y
fAeTaRt & &l O3 & —

a) 2featd

b) 4fgHid

c) 5t d

& S

ferferfad # @m a1 Aadafaad e § Rifed g2
a) @fad &l U= & el 3T & &l AT

b) =afea Ft guL Al & qre W artery & S
gl

¢) =afad &t 9l alier ° o791 @ e &t aadn
d) =afed & g@e ¥ faar vee &2 &1 amaan

38.

39.

40.

41.

42.

Two cities A & B are 125 km apart. Person P
started from city A towards city B at07:30 a.m.
at the speed of 25 km/hr and started from city
B towards city A at 07:00 a.m. at the speed of 30
km/hr, then they will meet at

a) 09:30 a.m.
b) 09:45a.m.
¢) 10:00 a.m.
d) 10:15 a.m.

6 boys and 2 girls can do a work in days, while
13 boys and 7 girls do the same work in 2 days.
Then 7 boys and 3 girls can complete the same
work in

a) 4 days

1
4— 1.
b) 6days

c) 6days

|
d) 6 Z days

P+ P
What is the value ofm if 6 =73
a) 1/3
b) 2/3
c) 4/3
d) 7/8

P and Q together can do a work in 12 days. Q
and R in 6 days. P and R in 4 days. If P, Q, R

work together they will complete the work in -
a) 2 days
b) 4 days
¢) 5days

]
d) 56 days

Which of the following is included in
interpersonal skill ?

a) One's ability to give correct answer to the
question

b) One's ability to interact effectively with
other people

¢) One's ability to do his/her work properly

d) One's ability to present ideas ata conference




43.

44.

46.

ffafEd o @ 8 @R sragiade &I & WHTad
FAATAE?

(i) #19a

(ii) ¥9-47

(iii) afEr

(iv) frm

a) (i), (iii) and (iv)

b) (i), (ii) and (iii)

¢) (i), (iii) and (iv)

d) (i), (ii), (iii) and (iv)

gfe 31T =T & A @) LR & el FdwH & fawg
F A I STEE FAT AR @, O gaiae I
gEm fEfafag f am arge

a) Y-H9g FHEY

b) fG-ANg oy

¢) ez gEmor

d) 59 T

TS YT H ST SIRTqafarieh drael § e sl dl
ATTRIE & Fifeh

a) ¥ 3 SRR g g |

b) 3 greEsi & FHYE e € |

¢) F 37T T o Uy ST AR T E
d) FTH T T
Aqaaferes gumu F affferd § -

1. Hfthg €9 § g1

2, U

3. JUgE |

3

4. gSTTOT

a) &ae (1), (3) @ (4)
b) e (2), (3) T (4)
c) @ae (1), (2) T (3)

d) (1), (2), (3) @& (4)

43.

44.

45.

46.

Which of the following are influencing factors
of interpersonal skill ?

(i) Experience

(ii) Appearance

(iii) Family

(iv) Friends

a) (i), (iii) and (iv)

b) (i), (ii) and (iii)

¢) (i), (iii) and (iv)

d) (i), (ii), (iii) and (iv)

If you want to address or to make aware all
the citizens of your state about a particular
programme, then which of the following is the
most appropriate communication ?

a) Small group communication
b) Two-way communication

¢) Non-verbal communication
d) Mass communication

People with good interpersonal skills are
required in an organisation because

a) They are more productive.
b) They look for solutions to problems.

c) They have positive attitude towards their
work.

d) All of these.

Interpersonal communication includes
1. Active listening

2. Persuasion

3. Suitable language

4. Feedback

a) (1), (3) and (4) Only

b) (2), (3) and (4) Only

¢) (1), (2) and (3) Only

d) (1), (2), (3) and (4)




47.

48.

49.

50.

UTe & UTH %8 BT ofR T Gl € | afg wHad &
e 43 faR & TR et 142 TR, 7 UTel o 9T et feeteit
Hfit &2

a) 128

b) 21

¢) 15

d) fAuifea 78 fean s gean

144 19 %A &l AHIEF el

1. 7 & # et & e

2. 60 9ETE | Yl @l @

qel fasey g -

a) (1) @& A (2) & 7 ¥ s1f9E 2 |

b) (2) & Arer (1) & /aT & 31fHe 2|

¢) Sl FY ATaTd SUE g |

d) e el <t S St |
MNMNMNANMMAMNMMMMANMMN
T4 o 'm' € fores qaedl 'm' § ST o7adi 'n' &7
a) 2

b) 3

c) 4

d) 1

gty gad fowm g@msif A,B, C, D 3R E &1 3itad 41
| A 37 E &I J0t%e 217 —

a) 1977
b) 1517
c) 1665
d) 1591

fe o Tt 7 60% STa e &, a1 SISl ol 4T
812 &, a9 TTetal & G entt —

a) 1218
b) 1200
c) 1217

d) 1210

48.

49.

51.

Pal has some hens and some goats. If all heads
of animals are 43 and feets are 142, then how
many hens Pal does have?

a) 128

b) 21

c) 15

d) Cannot be determined.

Read the given statement carefully

i) Number of minutes in 7 days.

ii) Number of hours in 60 weeks.

Choose the correct option -

a) The quantity of (i) is greater than quantity
of (ii)

b) The quantity of (ii) is greater than quantity
of (i).

c) Both quantities are equal.

d) Comparison cannot be determined.

mnmnmnnonmmnmnimmmmnnmman

How many m’s are preceded by ‘m’ and

followed by ‘n’?
a) 2
b) 3
c) 4
d) 1

Average of five consecutive odd numbers A, B,
C,DandE is 41. The product of A and E will be

a) 1977
b) 1517
c) 1665
d) 1591

If 60% of the student in a school are boys and

number of girls is 812, then the number of boys
will be

a) 1218
b) 1200
c) 1217
d) 1210




52.

tn
un

TG} o FHA Ueh ST U1 35 UfT ol i @l 31 23
gy &ff | 599 & TG I Uy 1 g9 @ g &1 3 g
UfER &t affera 31T farat &7

a) 1999

b) 2805 a4

c) 23 a9

d) 29.339

a7 Y FormeT 124%, 175% &, & -
a) 1404

b) 1440

c) 1044

d) 404

8400 &1 32% + 760 & 15% F ™ =
a) 2912

b) 2848

¢) 27232

d) 2802

g TRl 8 : 9 o U H €| ARG I7H Ueedl 24 &, A
e

a) 7

b) 9

c) 7

d) 63

ferelt %@ @1 G A1 W 15 %A, 25 & 9 6, a9 98
e gt

a) 20

b) 25

c) 30

d) 35

afg n 2R p g1 fayw gw@rd € a1 fF=fafag g
T | i © e gy g

a) np

b) n+p

c) ap+d

d)n+p+1

un
95}

At the time of marriage the average age of
woman and her husband was 23 years. After
five years they have one year kid. Now what is
the average age of whole family?

a) 19 years

b) 28.5 years

c) 23 years

d) 29.3 years

The number whose 12% is 1754 will be
a) 1404

b) 1440

c) 1044

d) 404

The value of 32% of 8400 + 15% of 760 is
a) 2912

b) 2848

c) 2722

d) 2802

Two amounts are in the ratio 8:9. If the first one
is 24, then the other quantity is

a) 7
b) 9
c) 7
d) 63

Twice of a number decreased by 15 equals 25,
then that number will be

a) 20
b) 25
c) 30
d) 35

If n and p both are odd numbers, then which
will be even number of the following numbers?

a) np
b) n+p
c) np+2

d)n+p+1




58.

60.

61.

62.

AGAX BHEASE, A, BHFIEGUHG A + B g
LABFTRAZA-BFIYE A, BFRATE,
TA-Baade A, BHFUEHHE AP+ Q+R-S
HS, Q & are fomg fomm & 22

a) 3feror-gd
b) gfeyor-ufzm
¢) TG

d) I-ufgm

qfe + &7 o1 =, — &1 ol +, x @1 319 — 3R + @ g
x &,

16+ 1244 -6 %8=1
a) 36

b) 46

c) 196

d) 162

A, B# e B, Ca @zl
ey : A, CHHa gl
ERECEREL:D

a) AR

b) smEg|

c) AffEa gl

d) smmafies 2|

e Wi H GUR &1 €I FURE 14971 q91 U] & 819
A § 1841 8| afg g & wm 9 & 2641 8, 9 IR
H U ] € TR ?

a) 26af
b) 22af
c) 20df
d) 214

e ve| didig 9 7 15 e gl Sl g | 38 g9e
12 951 gel foran S 2, a1 4 am W 921 # fa1 g7
gme

a) 4:10am

b) 4:15am

¢) 3:45am

d) 4:30am

58.

59.

60.

61.

62.

IfA x B means A is in the South of B, A + B
means A is in the North of B, A+B means A is
in East of B, A - B mcans A is in the West of B,
then in P+Q+R-S in which direction is s with
respectto Q?

a) South-Fast
b) South-West
¢) North-East
d) North-West

If + means +, — means +, X means — and +
means X, then 16 +12+4-6x8 =7

a) 36

b) 46

c) 196

d) 162

Ais afriend of B and Bisa friend of C.
Conclusion - A is a friend of C.
The above conclusion is

a) True

b) False

¢) Uncertain

d) Irrelevant

In an examination Sudhir's position is 14™

from the top and position of Pankaj is 18"
from bottom. If Sudhir's position is 26" from
bottom, then what is the position of Pankaj
from top ?

a) 260
b) 22"
&) 20"
d) 21

A clock is fast by 15 min. in 24 Hrs. It is made
right at 12 noon, what time it show at 4 am ?

a) 4:10am
b) 4:15am
¢) 3:45am
d) 4:30am




63.

64.

65.

66.

67.

68.

A G 71 S1ER SpEer H, ' % TN W &4 A AR
T ?

GDFCEZ2

a) A

b) B

¢c) H

d) I

A & TS e g H 7 F WM W A T AR
T ?

LY I'Di.¢

a) 1

b) J

¢) K

d) L

A & TS e g H 7 F WM W A T AR
T ?

WTROM]J 2

a) F

b) Z

¢) H

d) K

frmfarfed # § @-a1 wi-uera s 7 & €7
a) -l

b) -t

c) - e

d) - e

REEA H @ o g 87

a) - of=al

b) -7

c) -41

d) -grga

BTG H ATl eg I &lTer] giil —

a) el

b) wrengT

c) @A

d) erere

63.

64.

65.

69.

70.

ZLL,

Which letter comes in place of “?” in the

following letter series?
G IyFCE¢

a) A

b) B

c) H

d) I

Which letter comes in place of “?" in the
following letter series?

IRD¥T@G. L
a) I
b) J
c) K
d) L

Which letter comes in place of “?" in the
following letter series?

WTROMIJZ

a) F

b) Z

c) H

d) K

TGS 7 W eg T agaTT & —
a) @WIHA

b) &d - @R

c) @t

d) =1 Ea

"4 o ST HEral i AT g -

a) faa &

b) T

¢) HHW AT

d) sgHTfEa A

"G FRG ........ " FEIad & [ T &l Ui diforg-
a) Tl Tad

b) T @

¢) TEH

d) wuE @




72

73.

74.

Fhi:

76.

77.

78.

'Y H @l -g HE © ?

a) HAHE

b) FHIRA

¢) TATEY

d) fa

e ST & fely weiterTe! Hered € -
a) wige gl

b) @ag-aig &l

c) HI YAl

d) 1g1 g%
TGTG! AIET X5, ol 374 @ —

a) gl

b) g

c) B

d) gemr
AT U, ‘S 7 37 § —

a) foaaer

b) firfie

c) T:{g'[

d) deher

BTEITE! ¥eg FRAT @ feg! - waTTeif § —
a) &

b) @

c) e

d) g

" 3T ] ST e, U o S0 e Tl @l o7 € -
a) ==AT

b) el

c) Sar

d) @de1

"o Eiell 91 B, GER 7 US &' Ueel! ol 374 @ -
a) Tadt

b) et

c) gl

d) S

79.

80.

81.

82.

83.

84.

BUEE! W SifEar o worg 579 Sa H U1 g, ag e -
a) Il

b) aféft

c) udt

d) ufge

"3 g foT R T e e T R R -

a) ferafasiaor

b) GavEE

) HHETEYE

d) faemnfgarae

TG el & UG -Md "SRy i F R ... &
MaeRHAH & -

a) g T

b) a4 gam

c) . A g@ aAl

d) wreFor e

"SeTaTe @l BTG TES & TRaE - G & —
a) €. fagaH UTed Ud €. Hisld UIedh
b) 3i. A == @ . gaR wmE

¢) . T g Hedar Ug <. feere
d) @1 fagriere |1 Ud el HiFead 99
gUHTH' &1 HiY-famg 2 -

a) 92+ 79

b) 9 + A

c) WS + AW

d) 99 + H™

"ol @ T vee e & —

a) @ed

b) 3@

c) wfet

d) wmorfoEr




85.

86.

87.

88.

89.

90.

"9 U 31T BT & | T H Yaharas 99 @ —
a) T

b) U®

c) I

d) 3™

R AT T AR G
a) g

b) dH

¢) 9R

d) =%

"Et U Ug ST 6 Hel T € —
a) TE &

b) R ERAT

c) T AfeTa g

d) R g g

‘ST A - g g -
a) ¥+ fog

b) &1+ a9y

) T+ AfAg

d) sfFf9 +3
fraferfea § § g e & -
a) # od W fad @

b) #za # et g |

o) H3oaW fEeet 3wt

d) # od & faee 3@
frafafa A e g Teg & -
a) Yfed

b) T

c) wfed

d) @fea

91.

92,

93.

94.

95.

96.

TAE & foa g &7
a) o

b) IR

c) ur=
d) 3%

FerHAe H o - FTEAE S ?

a) dgiiie

b) FHIRT

o) &1

d) g8

Feq 1 'RT g oT-ufar & s S 82
a) I

b) gfeg

c) AT

d) feesel - 9=

SRITEITE! T YYUT AT & TG Tl - Tl 62
a) @l faTaeHR uree Ug . fAHe$AR e
b) &, faTagHR ue® W . GAgEHR e
c) . faaear uew 1g o, faaiear aa

d) =i. femereAR U g e, faAigaHR an
frrfarfe # @ gdf s<iamd & s ot & —
a) @eerdl

b) el

c) afn

d) &t

TTE} S ; ST 3R R o T § —

a) f. g ga aHl

b) =i R &R

c) . THY g Hedl

d) dt. vg. ugrat




97.

98.

SUHEE & g &d U5l w WER @ & fog
SRATGIE TSTHTT ST R Sie - T SAHH gl
TTE?

a) AT Pl

b) faster

c) 99 @ieT

d) =t

TG’ Xeg G o1 B8] THR 8 2
a) goHaTaH

b) THgaTSH

¢) Hraaras

d) sifdargs

99.

100.

AT H Wl 7T FIS) A ol BRTEIET 7 T Pl €7
a) el

b) gt

c) wU

d) IR

TRETEl g TN @ fadm -

a) gt

b)

c) TEEg

d) s






